Imam Muhammed Zakariya School, Numeracy Week, year 6
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Fill in the missing numbers:

1.  0.12 + 

= 1

2.  0.23 +

= 1

3.  0.36 +

= 1

4.  0.47 +

= 1

5.  0.65 +

= 1

6.  0.72 + 

= 1

7.  0.87 + 

= 1

8.  0.91  +

= 1

9.  0.02 +

= 1

10. 0.27 +

= 1

11.  1 
-
0.15
= 

12.  1
-
0.24
= 

13.  1 
-
0.57
= 

14.  1 
-
0.84
= 

15. 1 
-
0.41
= 

16 1
-
0.01
= 

Fill in the missing numbers:

1. 2.23 +

=10

2. 3.27 +

=10

3. 4.36 +

=10

4. 5.21 +

=10

5. 1. 32 +

=10

6. 9.45 +

=10

7. 0.54 +

=10

Mandy has done the following calculations, tick the correct ones.

1. 10 – 1.23 = 8.87

2. 10 – 2.25 = 7.75

3. 10 – 7.52 = 2.58

4. 10 – 5.47 = 4.53

5. 10 – 4. 03 = 6.97

6. 10 – 9.89 = 0.11

7. 10 – 8.54 = 1.56

8. 10- 0.77 = 8.33










































































































